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[0 O 0O Sample 1: List TWO of the five consequences of poor
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[1 Sample 3: Briefly explain why you would use an ABC analysis
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Do0O0/000000 000000 Samplel: Youarea
Supervisor in a warehouse and have been informed by your Manager
that whilst the volume of product throughput has increased slightly
the overall costs for the warehouse have increased out of proportion.
It appears that the main problem lies within the order-picking
element of the operation. How would you go about bringing these
costsundercontro? 1 0 00000 O0O0OO0OOOOOO
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